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Which of these choices is considered an input device?

A) Mouse B) Printer C) Monitor D) DVD
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1 Kbyte equals to?
A) 1024 bytes B) 1048576 bytes C) 8 bits D) 8 bytes
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Ctrl-S means?

A) Send B) Save C) Select All D) Scan
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Mobile devices are?

A) ) Siton  B) Not portable C) Ultra-light and portable D) None of mentioned answers
the desk
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RAM (Random Access Memory) is considered?

B ) Nonvolatile C) Permanent memory D) Both B and C are correct answers
A) Volatile
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Type of computer can do management for network

A) Clint B) Server C) System Unit D) Supercomputer
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Large computers to provide electronic services to thousands of users

B) Cloud Computing C) Mainframe D) Supercomputer
A) Embedded Computer
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The measurement of the printer speed is

A) Gigabyte B) Gigahertz GHz  C) Megahertz MHz D) pages per minute ppm
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A) Monitors B) Keyboards C) Mouse D) processor

The hardware consists of

A) CPU B) RAM C) ROM D) All
Dby (A JSI aaas

Select All in windows

A)  Alt-A B) Cmd-A  C)Ctrl-A D) Fn-A



Information represents Text, Number, Image, Audio,and Video
A) True B) False
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A Computer is a programmable electronic device that can input, process, output, and store
data.

A) True B) False
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Small specialized computers that built into large components like Automobiles

A)Laptops B)Smartphones C) Embedded Computers D) Server
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The Keyboard is an ..... Device

D) processor C) public networks B) Output A) Input
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What are the components of a computer?

B) Hardware & Software C) Keyboard & Mouse D) RAM & ROM
A) CPU &Motherboard
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TRUE FALSE

information can be recorded ,revised or deleted; new data can be changed or deleted:

B) CD-ROM  C) CD-ROM D) None
A) CD-R
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Performs the arithmetic and logic functions for the computer
D) RAM C)USB B)ROM A)ALU
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Supercomputers are used to perform?

D) Both A and B are correct answers  C) Manage network resources
B) Sophisticated mathematical calculations A) Specialized tasks
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Which port send data one bit at a time so the data exchange rate is slow compared to
newer Technology

C) A&B B) Parallel Ports A) Serial Ports
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It measures the speed of a CPU processing data. It uses megahertz (MHz), or gigahertz
(GHz)

D) Clock speed C) Byte B) pixel A) print speed
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Which device is considered as input and output device at the same time

D)Scanner C)Mouse B)Digital Cameras A)Monitor
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Which of these devices requires a special video card?

B) Gaming computer C) Desktop computer D) Notebook computer
A) Tablet computer
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Print speed is often expressed as?

D) All answers are correct  C) Color of ink B) Kind of toner  A) Pages per minute
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A) 1024byte B) 1024MB C) 1MB D) 124MB
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point-and-click format known as

B) Graphical User Interface (GUI) C) Digital Service Line (DSL) D) None of the above
A) Disk Operating System (DOS)
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IrDA port does not require a clear line of sight in order to transfer data between devices by
using infrared light waves

True False
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It is responsible for obtaining and executing instructions from computer's memory. For
example "print" command

D)Arithmetic logic unit (ALU) C)Control Unit  B)Hard disk A)RAM
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A) Tom & Jerry B) Spiderman C) Batman
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Every computer, from the smallest laptop
to the largest supercomputer, has an

D)mouse C) keyboard
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The operating system (OS) is a group of
programs that controls how your
computer functions
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The operating system has

D) 4 primary functions C) 3 primary functions
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desktop, icons are

D) GPU C) small program
fagibiiia Junil ki S Ja

Are all operating system alike?

B)GPU processor

B)Fault

B) 2 primary functions

B) User interface

B)Fault

A)operating system

A)True

A) 1 primary functions

A)utility program

A)True
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What kind of operating
systems do networks use?

D)UNIX C) Windows 10
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Any programmer was allowed

to use the code and modify it
to meet his or her needs

D) 10S Windows 10
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This process of optimizing
RAM storage by borrowing
hard drive space is called

D) None of the above C) Phantom memory

B) OS X

B) LINUX

B) Borrowed memory

A) Android

A)OS X

A) Virtual memory



Linux

Linux is

D) RAM
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Where do deleted files go in
Windows

D) File Explorer
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the file type of ppt
extension is for

D) PDF
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"File compression utility takes

out redundancies in a file (zips
it) to reduce the file size. "

i da su )l AL JPEG, GIF,PNG
JPEG, GIF, and PNG files don't
need further compression.

C) 10S

C) File History

C) Excel

B) DOS

B) Trash

B) Word

B) False

B) False

A) OS

A) Recycle Bin

A) PowerPoint

A) True

A) True
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RTOSs are found in many
types of robotic equipment
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OneDrive account is the
cloud for

D) DOS C) Lunix
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the spooler is a program that
helps coordinate all print
jobs currently being sent to
the printer.

B) False

B) OS X

B) False

A) True

A) Windows

A) True



Linux-based operating
system do not have a single
default GUI

B) False A) True
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APl is helping application
software in order to interact
with the CPU.

B) False A) True



